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PROVISIONAL ANSWER KEY
Name of The Post Electrical Supervisor (Mines) (Sahayak), Class-3, (GMDC)
Advertisement No 40/2020- 21
Preliminary Test Held On 04-07-2021
Que. No. 001-200 (General Studies+Gujarati+English)
Publish Date 07-07-2021

Last Date to Send Suggestion (S) 15-07-2021

Instructions / }{dell

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as Cancelled.

(7) Candidate who is present in the exam entitled to submit the objection/(s).
(8) Candidate should attach copy of his/her OMR (Answer sheet) with objection/(s).

G edIR o{lAeil YUoilBilef Uldel sclofl d3el] AW, Bouell ditl-YUsl i) 539 12VlLd] tla
aqiel «&l
(1) GALdR didl-YUell [Add S 11Ad ditl-¥Ael UsAse] 22 sd il 2ER.

(2) GUEdR UHUHI ditl-YUell 2% 5L A1 U URite AAd [ddd ditil-yUst UnASell
oiYsile] % GUALL 5.

(3) GALdR Uldlal UlatHi HAd YUY RASIHI 9UIAE URSHIS Yoo ditl-YUst] 22 ol 5cll dHIH
digl-yUell AU U Uit 6AG Yl[dreld w12 S (HIReR UBUA)sll Usl SHIS Yool Wl d
Aeelui 0 s2dl.

(4) U1 USUA Ui A2 ust a [Asey [Ad el ditil-Y et dlel Qo lH] w1dQ) il

(5) GREAR % URlell (A5 UR dit] 2% 536 & el [Asey U % % lod YUdd B 2 %clod GHedR
Uldlefl GrRad&lui wUd eld) a5, GAed R YUAd dlod el GrdRdElell asallod (¢3t &2l dl
GHed IR 2% 539 ditl-YUst LdleiH AR oAl

(6) W5 WS HI2 WS % ditl-YUel Uas dlUG, A5 % didl-YUet UAsHI 158l aaR usllel 22q41d
539 &2l dl A 2etl ditll-¥yAell il Ad Q) «i&l.

(7) U3lewHl sloR ¥A GAEAR % citl - YUot 9y 53| A5 .
(8) GRAeal? clul-YUol A& Wclloll scuataglell aisct @sial scusdl 234



001.

002.

003.

004.

005.

006.

20110 AU Hoyor AURAHE Alell Ay ardl 4Rddl $UL AR AR AU ?
@Gz u2a, usreg, s (B) HgIRW, BT N2, AYAA
(C) Breir, He ue e, 23 (D) MR, [Bie12, Brir sl

2011+ AAA Y01, HIRdAL 521 A%AHE Al @il (Density of population) Al At i Al 2iiesl
Q?

(A) Brer 247 -uouds @)Cus2 213 234 uza

(C) Gz U A1 2ual (D) W& U2 24 e9TilA21G

A=A sl W suL aisal 1oy 69 ?

1. 9o AU USE AYAL, HEL UL, HSIRINZ, Bl 24 EHEL L E1EA R Sl U
8.

2. 921 Aza-l 22Au-L 1 4 19610 Aoy 28 Sdl.

3. 9 RAA-L UEHRAL €2 (2011 U A4 HA6L) 78.03% & il 2011+ AU Yorod Asu 20Ul 919 8.
(A) 1241 2 sl didu 69, (B) 2 2 3 ALsAL U1y 89,

@ 21 3 sl wlou B, (D) 1, 2 ¥ 3 681 cUsUL ALY 8,

A2 qusal WS sa0 cusul 410y €9 ?

1. el A7, 5 % Al sRugHEld A3 6 d Al aieil @ilHel ©.

2. Bedl, H{ors, A1 A slastun Az @ age{er Asdla Qi 2uio .
3. HLeHL QU] UsAUA SIUA/AAAA VSAUA 1A -1 HHUELAE-AIIEJU %S 69,

@: 2213 (B) 13

(C) 1A 2 (D) 2 %A 3

Y

el o, [ARUON A drit Huu S AL

1. W39 a. sldsil

2.yd 34 b. $12Y2

3.yd Hw e c. geell

4. el ulm e d. 4o - e9aula dllaww ugRiy 2Hl-u
(A)1-¢,2-d,3-a,4-b B)1-b,2-¢,3-d,4-a
(C)1-a,2-b,3-c 4-d @:.-0d2-a3-b4-c
LIBETETEN P

1. S2un G ustél AAHL suHIA dle 8L AL uda 69,

2. ydeue 24m ulBH iz glonan uR w16 %aal udd 6. Wv BgHi uisst Wil o 8.
3. [SHiau- Gy ugish uR oA uHRHi dig, $asl, Yedl, A2 Fau gail olla uHHi 63l 6.
(A) 1 214 3 ulou 89, (B) 2 211 3 1oy 89,

@1 211 2 0u 8. (D) 1, 2 v 3410y 8.
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007.

008.

009.

010.

011.

e asal WA 5y sy alou 6 ?

1. A1 AL 2us1ella vidlui ggar, cuadl, Hsid Faust w8,
2. 86+ ws W YA vidl crug ol agll Guaioll .

3. RS-l vidlell 2124, swa, 2, 3i0R B uisig Gaue i .
4. oAl WAl AL, ST8] %l WS-l AHIA A 89,

(A) 1,243 (B) 1,231 4
(C) 2,334 @: 23214

QR A%AUL 21 d-ll gt (Capital) A aiou Ad sl

1. A3eUAA U a. 921012

2. U™ b. By

3. HayR c. 8514

4. Huax d. Rl

(A)1-b,2-¢,3-d,4-a @:-22-03-c4-d
(C)1-c¢,2-d,3-a,4-b (D)1-d,2-a,3-b,4-c

garl [Secul (Fort) 24 uoi[8d ad/ueuixl Al WS 59 Al uioy -l ?
(A) ussiou 51 (Panhala Fort) — HSIRIB

(B) A& sisL 51 (Golconda Fort) — 8€16ue

(C) H8113 $12 (Mehrangarh Fort) — %21

@:io= 512 (Kangra Fort) — odlaoe

AL AUSUL ASIAL A7 SUL ALSUL 4Y ¢9 ?

1. auollell €l uR eiani 20da ddl 31 (Tehri Dam) (URAHE vude Al Gl S 6.

2. [Rg3 34 (Hirakud Dam) 321 A2aui 2udd © 214 d Al aiedl 9.
3. gidlawst 31 (Dantiwada Dam) 9Tl HE 2Udd £ 2 d HeIHEl GuR 8,

(A) 1,2 214 3 cusll AU B, @1 11 2 cusail dou 8.

(C) 1 24 3 cusl WY 89, (D) 2 2 3 cusUl AioY 69,

212212 (Tiger Reserve) Aod &2 w14 Asild ol A2l W 56 ol aioy ) ?
@ 1+::15 (Namdapha) — tia w2 (B) U4l (Pakke) — »3QUAA UB2

(C) RIdL (Orang) — 2UAH (D) S48l (Indravati) — ©9<la21e
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012.

013.

014.

015.

016.

“UAHA HUd” @Rl 3 ¥ *IRAL AYR& (Indian Emblem) 1 vt 20d 9 d il dami
waa 89 ?

(A) ®2d¢ — Rigved (B) ddud el — Satpath Brahmana
.gss Bul-ne — Mundaka Upnishad (D) {1 — Ramayana

A Y

RURATL WAl el USIR 2 AiHld A% U1y Lld A3l :
1. 545 (Kathak) a. sifeuR

2. sus sdl (Kathakali) b. 2«8 ueel

3. $0lydl (Kuchipudi) c. 50

4. 63 (Rouf) d. Gr2 vz
(A)1-c,2-b,3-2,4-d @:. d2-c3-b4-a
(C)1-b,2-a,3-d,4-c (D)1-a,2-d,3-c,4-b

N

ated (instrument) 244 g s+l 56 A2 qloy ¢ ?

1. AgR —udla agHiz axl

2. AR — lvlla 61

3. ofl, — e 2l viur

4. A=31dln — ofloy GquRL 5161

(A) 1244 2 @3

(C)1x 4 (D) 1,2, 31n 4 61819 ALY €9,

QR A4401-2A 1 A4 241 d-l 018 ARG AU A5 UL 5L A5 412U €9 ?
1. »uguad) (Ashavali Saree) — 9)%31d

2. sugdl él (Baluchari Saree) — Gtk ugal

3. ollmé)l 0dl (Bomkai Saree) — 2iilau

4. sug d| (Kasavu Saree) — divlarig

(A) 144 2 @13

(C) 12 4 (D) 1,2, 31 4

RURAL HvALd H[ERL 2 uoi[Ba Au-]l A2l WAL 56 A iy ) ?
(A) sigl-ua 22 (Badrinath Temple) — Griuvis

(B) si-us Y 422 — 21 dln

@ 22 iRz — win uza

(D) Rl [a-uas 2wdla (22 (Siddhi Vinayak Temple) — Hs1R1%
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N ~

017. [8+€l curirl Quist 24 AL RLELA Uiy fd dusal.

1. dvA a. Al [Rs-2rs2

2. sHadl b. selluR-na ]

3. Al 2l C. SULS UALE

4. :Amy d. efllsy Aei-l

(A)1-¢,2-b,3-a4-d @:-d2-¢3-b4-a
(C)1-b,2-a,3-d,4-c (D)1-a,2-d,3-c,4-b

018. Sl tllig 4H U YAl 2A1Q2HL AYAAAHE suL il il ¢ ?
(A) tus (Bagh) @: 0« (Devni Mori)
(C) AR (D) s¥lat ardg

019. [doru @™ “Vijay Stambha’ sul 220l 2udd ¢ ?

(A) BUYR (B) Geuyr
@-xisoe (D) 2A%AR
020. ‘AU £5d2 Ri31IR° ‘National Archives’ L 220l 214 ¢ ?
@k (B) sai5TlL
(C) e8ugn (D) 1

h Y

021. el (et Wioll 249 d-fl 22 5212 QrisHl Al dllsal.

1. Uy AU a. 2l equdrI

2. g - AWYR HAYL, b. £l sRand Yl

3. 4na c. Al Aeis dlad-i Al - yudq
4. 2DARAH ME d. sll y~Nlena vl
@:.-d2-c3-pb4-a (B)1-¢,2-b,3-a4-d
(C©)1-b,2-a,3-d,4-c (D)1-a,2-d,3-¢c,4-b

022. QA WS sa1 cusul ALY €9 ?
1. Qw2 di d 58121 % Ul v A8l ... dvis AR08 Hedl.
2. 35 HRuir id) 2d, UL AL YR £d ... Quis AL MOLd
3. A% HA Awoul 56l 201, ol SUHI Wl Wadl, Ulest siefl-l o1 ... duis Bde Hawll
(A) 1214 2 (B) 21 3
(C) 124 3 @: 22113

[ATA-1] [PT.0. B
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023.

024.

025.

026.

027.

028.

029.

9921l Qrisl A duti-il Gu-umll s dl2il Wl 56 ol ulou ) ?

(A) 2166UA 2105 Al Rfl — w3 (B) HYYE ACAMELA 5152 — HYRAU
(C) NS a2 WS — AT @R avalRis® o — 3s12q

A2l Wl g3win 2igldd 5y a0 52941 vuda 9 ?
@:2au: (B) buLiRS512
(C) A8l (D) FayR

-

HSYE Ll AlHUA GUR AL 53] AR AYaRAeAHL AR SIRMIR 512 AMUNAL Sell ?
(A) sul2a uddl @12 udal
(C) sulga oflA (D) ¢lluga olos

A=A suoid s Al unuui vda dl ?

1. 4491529 (M3) 7 eedlel (bitia) Fal AL 6IER dril ABAHL Sdl.

2. Al aouyy sU8uiA ru-l Ayl vor avina 53 .

3. AL uHAHL [Qieu, et 29 Resail e [Asid add edl.

(A) A2 AHGPA @22 2isopa oA - Qs

(C) $4IR Ad usdl (D) A2 A2S

-

Wallr GuRdHl [Ruizva uudl el i d- e 200 asdl WAL 5y ausy dioy -dl ?
(A) S1a-l BriR UM ¢iRd-L iR & wa dalden dalds uq e,

(B) s1a- [Bre1rui Aiagt [Qeudls 2uda edl.

@111 oriani 2080y suqdl Reandls sd.

(D) sre-it spdunui [Asufien [Qendls 2lzacni sdl.

g[2e cuaui, A U4 sut A% - UsAL AL 8L ?

(A) seuell-l 1gsu dat, AR da (B) uedid <, uisa 4
(C) A da @ (aci2, wa da
AL sl s

1. AdHR %-1Ra AdAlN Asiustd) Ao - [Qdizae Al Ao e AL ML AE Sdl.

2.3a 816 g1 “vua-lla” -l AHA A3 $3E Sl B Al ML B, AldRL, B, UAYR Fal

A%AUL t1=UL Sl
(A) UAH USA ALY 89, (B) tllog alsu Loy 9.
@20 27 ooy, b1 cusl dou 8. (D) uaH 24 6l9g, o1 sl Aoy ).

[ATA-1]
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030.

031.

032.

033.

034.

1857+ AWK AG{HHL AL sl ASIRAL :

1. visL el suRiel Yol aRegeiusll sudtardl Hla 4 931l gdl.

2. A3U (AU3) dum-iL Al e s ael uolandl sl UMD AR g,
3. GriR 9aAdHl wew, vy, [Maidl, Y34l ooz url AuH A3 24 Sl

@ 2 14 3 sl diou B, (B) 1 %44 2 cusall dou 8.
(C) 2 211 3 cusul i 69, (D) 1 211 3 cusul iy 69,

LU AAASL AL AHU 20U U1, L, %3l :
1. AU AUAS a. 1928

2. Vi3l AUAS b. 1917

3. AUSHIRY wieldat . 1917-1918

4. uR3dl AuAS d. 1920-1922
(A)1-d,2-a,3-b,4-cC (B)1-c,2-d,3-a,4-b
@:.02-c3-d4-a (D)1-a,2-b,3-c, 4-d

au WA s usigeudl [Agami silasdd naltui alsu silaslzi e ?
1. LM ™ aHl, HeAad lorl

2. 412 a8, Al seud, GamlRs

3. A% He % Uy, AR e, me e

4, Aeur xogeal, A e2llz, St wylRis “vigina”

(A) 1,243 (B) 1,31 4

(C) 1,2 4 @ 23014

Pt i sl Agd WA Awan glavl, dl Qusl x4 glau usdl Ada A S
Al uloy el ?

(A) AHAAAETH, — CIA —> U125 (B) §HIR Atia — sifAg1A — HeL51
(C) ad~t — [Qwy aul — udl 2ue @ 2wt as — aurdl - vissicn

Al s 2 afis yareud Anan Al Hstdeidl A dxi Al Adad, WA 56 Al
uioy Al ?

(A) AN A HISH AU — HISE AHIY

(B) wulldou & — U s 1Y

(C) 2l gurrie Ul — 20 A1y

@< R DulEam — R Wrd Dad yRwad 1o

[ATA-1] [PT.O. 7
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035.

036.

037.

038.

039.

040.

[Qoru-212 AL 1Ay 2% su1 220 Holl 2ud € ?
(A) tllyR — Bijapur (B) 2Uuasi3L — Golconda
@+ - Hampi (D) asieal — Vadodara

Fel-l uciuldidl vid dan 2isi-l Aaiudldr su yg sRel afla as ?
@i\ «uag ys — Wandiwash War

(B) 54, Yg — The battle of Buxar

(C) 4l 2druzHg ys — The battle of Srirangapatnam

(D) wlld yg — The battle of Plassey

A1 ausal AsRAl

1. IR 22 “ounHdl vl Al wizl [ s sa .

2. ouAHAlL Avi] Youed Geawet e[BRL 1A Hed GuRART AL 6.

3. 21UlsL g1 (APEDA) cuudl 2l 112 cAaislsa S-$l3an Geographical Indication (G1) H0dd €9,
(A) 127 2 sl doy 8, @)1 1 3 sl wiou 8.

(C) 2 211 3 cusl iU 69, (D) 1, 2 21 3 cusul 4lou 69,

NI DETRVE RERCTE TR LR I

1. %4 324 6ivs (RRB) -l 22U AAE U SWAEL Yool SAUNT 20d 8.

2. RRB 6121 90% (82121, Wil @-§lorui 21 n [Axdiui 529 520u1d 6.
3. el vidlawdl asg HenH [Be w519l olmsl RS s 20d ©.

(A) 1,213 (B) M 3

(C) A 2 @1

A2 WS su qusul aiou €9 ?
1. =4l $dla $32l (Anti-dumping Duty) i &gl 2Rs €. Fedl ga-u Gl uesll argil
Uy gds1e 3 as.

2. 51 vt S33)0 Holdu Qg s1ld DGTR (Directorate General of Trade Remedies) -2l $4lat
AL dwi 43 8.

(Al (B) WA 2
@1 217 2 e sl Wiou B, (D) 1 244 2 b1 cuusl Aloy 49,

“AR div” (Teaser Loan) SIAML AHIAR WAL A HA €9, d 9 €9 ?
@ 1afs acissimi cuc-l e2 2 €l B 2 ul gl 82 Al B,
(B) A1 AZL61 A A6L0U (A 24191 sl €3 BUUAUHL 2] A,
(C) vitnas HIEL 531, w61 2L € A albil 2uou-l diq.

(D) w1 dricirt AlSaatia il 2uadl diq.

[ATA-1] [Contd.
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041. 6= 6il$ 6YR1 (Banks Board Bureau, BBB) «iL yu 51l sui 8 ?
1. o5l $1d ugdl, oredA-uHi YRl 54l
2. 6l Yo oAl MRl HIRHL stdaud) sl 2 AHiHL #5121 M sdl.
3. w216 (B0 (Bad Loans) il 2142 a213al 2182 &l oisid dl 48l suudl.
(A) 124 3 (B) 2 3 @2 (D) 1,243

042. Awmsa S-3aq 231 (Geographical Indication Tag - G1) Hi=d Sl $im 2uuHi 204 €9 ?
1. vid BewgHl (Agricultural Product)
2. wgL ugil (Foodstuffs)
3. 8-{ls182 (Handicrafts)
4. edlls axgil (Industrial Products)
5. Al 244 1)z Yleuil (Wine and Spirit Drinks)

(A) 1,2, 3214 (B)1,2, 4945
@23 4215 (D)2,3,4 415
043. QURdHL €2 AN 6l quid sta--dlad AU (Financial Report) St glRL 61812 WisaMi 214 € ?
@2 oi-s 2iis S (B) e 2ol
(C) -ueus (D) -eu H-uay
044. [Aa-il Al Hi2l drdl AR WFs2 56 gl GU stddd 2R € ? (World's largest floating solar
project)
(A) 20 @-ix (C) 13yt (D) 5133
045. iy~ Wwse uidldl (Open market policy) 24 ¢ ulZui-l euoL ¢ ?
@: 2 uidlA (Credit policy) (B) 36fl2 Wi (Debit policy)
(C) uiAe uidll (Deposit policy) (D) BURisd U4 5185 ut 1l

046. ®URAHL 100 3L. -l 211 1 3. L -2 GuR si-l udl Slu e ?
1. Wit guld
2. Hir. a3t uansil
3. Wit uR.ofl. ., dd 4l
4, i, {18l -ueu (e
5. Hiet, AlRAasi wusu [Qeua
6. Hirl. AHA Hl[d 2ui0
(A) rt. guld 244 e, H=sll -usu [Qena
(B) Hurt. {8l -ueu [Aeor 21 Hiw, A4 Alld 2l
@ 2u 002, odRel 2 W uRasl A [Reua
(D) wurt. alRasl e [eu 24w, A0l Hlld 2uuio

[ATA-1] [PT.0. ﬂ
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047.

048.

049.

050.

051.

052.

131 212> (Mixed Economy) »i2d ?

(A) Uil 211 GalloliA, AU GIRAL UL UHILIML UeAls L 244 9,
@122 A5 217 vl Aaig usuRaa

(C) ril, W i1 Hi2l GelloliA Mg

(D) vl &iot 24 vl [Qstanl 21

AAUAUMUAL AMAEL] B2ellHi HAgIn 5101 53 €9 ?
(A) AHIY HASIR (B) disuci-i acu gl
@12 [Qeuq ueuqn 21da ueusai (D) cllsaed, Ao (A4t AcuqL Aeu il

-

MURAAL GIHIRRLAL UHMHL “UnIsUe] [Bi AUEURS” A0El-l AR sUL iRl YUIRIA $18L 2l
gl 8 “us AR AHIFAEL, it AMEURS dlsdaens Uty alvl 2uyuni Gedw ¢ ?

(A) YR . 41 @i 42
(C) YR +i. 43 (D) YR +i. 44

HOLGYA 8551 APAIE igsH 161 Lo A ollsdl.

HNGA 8551 w4249

1. cugll 2and-u a9l el AYs S5l 8 a.21

2. SIUEL UHA UHIAAL b. 28

3. @ar i AR AuUdA @ c. 19

4, s GuA-uHl s1%3 i3 adaAdl d. 14
(A)1-b,2-c¢,3-d,4-a (B)l1-a,2-b,3-c4-d
@:1-c2-d3-a4-b (D)1-d,2-a,3-b,4-c

oigl-ucigllsw, uH e, ulduy, A5 y2A91, GAlan Bdl (22 -l Gedu Alqaiq- su vge9eui

s 2da 9 ?

(A) 29 (B) 30

(C) 31 @::

Dot WAL s sl qlou 8 ?

1. 213269¢ 3740 24t Ao il 516 ~aaa x4 s1dl wsdl 1ol uig sruel asdl avid A%u-lla-u
Hlgals Rugidid @y wsa acsuHl 520 6.

2. 2142698 40 Yoror HUARALAL 224, %33 ATl 241 2A[A512 2uuarl Aaras sami 2uda 9.

3. 511 {3 —ufl 2 HHlQiRid wRRAM Rug sl Ao x14269¢ 44 Wi 524 .

(A) 124 3 @: 2

(C) 291 3 (D) 1,243
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053.

054.

055.

056.

057.

“SFURTI” Ao+l (2% [d dloy-it) su1 {1 gIRL A3 s 20dd 6 ?

@, ay 211 weaw Galol Huau (B) -wwau ¥=ue
(C) AL HAnay (D) & HAay
A2 QLsal AsRAl.

1. % uMl (Ao 2 asd 8 uig 1/3 0 asu i dedl 1@s-l Avuimi €2 ol a¥ ueul [Rgx asl.
2. disucu-l uddl sis sl didlval 6 anl Yl dlsucu g 8.

@0 cwsu lou 9. (B) 6ll2g s diow .

(C) nau 1 oflog eil causul dlou ¢, (D) uaH i oflog ei sl dloy -l

A=A sl asAl
1. 835 Wolld dal GuRdrl A2+l oan o wig) 5165 uRL AUSHL AYsA BissHE 81 BuuaAlAl 855 8.
2. Sl QUL Al GUE A HASL AL dl HASLHE HIRL Al dL Hd ALl 855 69,

3. MR- Gu-uld SigLdl 391 AsuAMA Acuuld 282

(A) 1244 2 iou 69, (B) 2 i1 3 U1y 9,
@1 >3 a0 8. (D) 1, 2 24 3 biny ulou 8.
A2 QLsal AsRAl.

1. Guargula-l 2ellui e1 L Gl HASIRIRIAL AGRIL, HAELA 53 €9 1 426l WAL Ad HagLell
urigoll i 69,

2. % UlSel AU UM AU A1 21an s - Sid 2421 35 Al G2 Y 530 A sid d alsd Guiguld
aZlvi 2f2ian w9l

BuRLSd AAAUS SUL AYAIEH] 5AAA O ?

(A) 64 (B) 65
@ (D) 67
A=A sl asiAl

1. uld, agpuna Al widiqi wdldl widii sigtg ey 2l asal.

2. 2142698 65 Hi AU sul Yoot AUl H8L U2 (Impeachment) glRL €2 53 AU 6.

=\ NN

3. n2uld AL 516 UL A A A% [t Hotr Al AR L il AS A % AR 1A dll SlEL
AU d drdlugl d sies viell 531 aua €9,

N

@103 cwsu diou B, (B) 1 %44 2 cusll dlou 8.
(C) 2 24 3 cusUl WY 89, (D) 1 24 3 cusul 4ioy 69,
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058.

059.

060.

061.

062.

-

Al suvidl e Alou 27eI¢ dMsal :

EETL) 2q269e

1. AL AFAULEAL a. 158

2. AeuuaHl [Anggs b. 156

3. ApuwAnL Slell Yed c. 153

4. ApuuanL Sigt-l ARdl d. 155
(A)1-c,2-b,3-a4-d @:-02-c3-04-a
(C)1-b,2-a,3-d,4-c (D)1-a,2-d,3-¢c,4-b

A U 5y sy uloy Al ?

(A) MIRAHE 215 GRAAN RUALAY L 247 FURAL HIA. Hoa =AAH(d GURid 21 HL. a2l siddd
284l

@ A 70 il Guz Yl vl glgl Bl as 8.

(C) . 3y[d Uldid, A0, Hirl. Ax2ulaA w1E2 53 8.

(D) s11 A6 1L, You ayld-l Ao 2174263¢ 126 Hi sAUHE 20da 8.

A2 cusal A5l

1. v 210l araus vl 71HE YAIRL Yool xudl sida 8.

2. YU {3 YHIRIAL L. 24-4-93%] HHAHL 2UAE 6.

3. Heuadl a2l a1 Prean 2 At A5R gL xaa- [Augs sami 2ud 8.
4. qaadsfl Hi-d AooUHE Yed win auHl gia 6.

(A) 1 244 4 cusl Qi . (B) 1 241 2 clsul uioy L.
@ 1 3 sl wloy A, (D) 1,2, 3 %44 4 cusul Ao A8l
A2 Qusal AstRAl.

1. 3+l Adsdl 2UARNA 25-2A10122 1988+ A% “QaLS £3%%A” 2UUAHT UAA Sl

2. BUARIHE 218 BURd AR ARAL 1A 69,

3. GURIAR gLl §REUAL Bl usidi-l A 5307 410U d ULHL MRAL HUALRL HAHRL 5 8.
BuRsa UA su [Qan-l wlou € ?

(A) 1214 2 (B) 21 3
@: 213 (D) 1,243
A2 sl AsAl.

1. dlsWA 2 dlsgsa SWEL - 2013, A Hirl, AUl 1 Ay2usl 20141 1% Wyl 2uiell 8l 214 16
A-Y2ALL 20149 U SIUEL AHAH] 2UAE Sl

2. diswani 2880 GuRid HeaH 208 ucdi-l dAlHgs 530 asu .
@12 211 ollog cusu ulou B, (B) M2 HAH AlsU AU 8.
(C) W oflog arsu ulou 8. (D) uaH 21 oflog s, o1 uloy 4.
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063.

064.

065.

066.

067.

068.

dls Ac 201l ARG 244 Aoi[d 2132696+ A 24 WS 56 Al ulow el ?
(A) A8 28 dLs Al PUARL A €35 AU s ALS A 2UALL 82 — H17269¢-315
@il Rugisl Aorus — 2192698-317

(C) dls A UL 1l — 214249€-320

(D) dls A 2naia- Ruig — »129¢-323

{21 ausal AsiAl.

1. daadil darm el Ayl siadlHl gaieigidl aou el sfhanui [ld wa 9. 2u Wil
AU A2IE 243 T (243 K) Hi 41 2uddl 6.

2. dlsu, ApUAML 2 [Qauenddl el 20l ganeidl x14269¢ 324 St - SAsu sMaH
[Al8a 6.

(A) MAH AU QLY 89, (B) ollog alsu iy 9.
@124 211 ollog o1 qwsl wlou B, (D) nan 24 oflog o1 arsdl ulow e,
vl oo YRl
2 | 6 3|7
80 | 24 120 | 36
(A7 (B)8
©)- (D) 10
vl oo YRl
84 81 88
14 | 12 18 | 9 ? |11
@ s (B) 21
(C) 24 (D) 28

L, M,N,O,P,Q,R, S, T 2qsH 1 ¢l 9 -itd2 udct 6. ugd 2 <6120 sHguR el P w2 4 -
2UUA B, Pl T a2 5 A2+l dslad € 2 T 24l N a3 3 Al dsldd . 2AL AAUHL N - sl 61
2ue 82 ?

(A7 @s

(©)5 (D) 4

-

25 g2l 12 ounsil A2 GHR 11 aw 6. o elgt-l ol scumi 2ud dl U9 GHR 15 av a8,
glel-l GHR Sedl sal ?

(A) 52 @cs
(C) 68 (D) 72
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069.

070.

071.

072.

073.

074.

075.

076.

Vs AvALAL 1/4 UL 2/5 GUL 72 A 89, dll d AvaL 58 <2l ?

(A) 360 (B) 540

@20 (D) 900

25 204l 1M 12 sansui 2i8l M2 a3 6. ug A ol 4 viladni 2ud dl 18 sasui 2i4l vudl a8 na
9. % 61 AN viAUHL 24 dl 214 32l Qudui ¢ ?

(A) 18 se15 @:o s

(C) 54 5415 (D) 72 515

215 Uil Y [(Bud Gu 2096 15l BHIAA 20% ANdR 20U 8. 24 UM dn S2al 251 isl-5ui a9l ?
@ (B) 5%
(C) 8% (D) 51 -5l 5 g5t agl Al

-\

70 ¥122 ajiell 2udl, 90 W12 disi WWesiHA 4 ASSHLUAR 52 9. dl -l 3y S2dl ¢ai ?

(A) 60 [30l/sc15 (B) 72 [33y/scus
(C) 90 By seus @144 Bysens
vl oo YRl

29 | 13 | 18

33| 2 |19

33|27 | 3
(A) 19 (B) 15

(C) 14 @:s

Vi Wiz Asa-i Uil [Fosan 35 AL 6. dl 11 (53 2idR srual U3 seen iy ikl ?
(A) 2,500 Ai2l (B) 3,000 il
(C) 4,000 tiaL @)s.000 iz

iy 4y 122 stusnidl 50 A1l Sea ARy sust Ausl el as ?
(A) 10 4 @100 i+
(C) 1000 Aufl- (D) 10,000 Auél

=\ A\

3L 720 i s vRell daEl 20% vile A 8 A 20% 51 Wonadl Sid di d vRell 2 dadl s ?
(A) 720 3L (B) 900 3L
@050 3. (D) 1200 31.
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077.

078.

079.

080.

081.

082.

083.

vl oo YRl
3 |370] 7
2 |224| 6
1 |730]| 2
(A)5 B)7

@: (D) 11

A2l W) 56 Al ealag awsd )l ?

(A) 3L 2l AluA — P a wigse AAAA 512 Man uldal

(B) 3L ol g — e [Risye 214 Rz Ao Guas- sl
(C) g sRaa — 232 gu 2iis SR

@)scu 2wl — nawm S sida ABu

ol AU Al s sk Al Sl 9 ?
(A) 161 3risASS - Carbon dioxide @02 - Methane
(C) s1ugi»n - Hydrogen (D) S1u3lo 5153 - Hydrogen Sulphide

Als (Chalk) 241 204 (Marble) 5 At U1 ¢ ?

(A) ellum gragior siet-2 - Calcium hydrogen carbonate
@): 20w stz - Calcium carbonate

(C) s¢allum »ifl22 - Calcium acetate

(D) ALlun s1eiiA2 - Sodium carbonate

A5IA1D (Oncology) A $UL GUsLA-L AU 53 €9 ?
(A) uell>il (Birds) @: = (cancer)
(C) %I (Soil) (D) A~ el (Mammals)

gl Sr2a-a AR 2euu- (The International Solar Alliance - 1SA) 4, u[Adiau su1 a0 »uda € ?
(A) U (Paris) (B) -l [R&d) (New Delhi)

@-.3204 (Gurugram) (D) =4 uls (New York)

URS1L AL (Arka Soma) i1 21 Bis-iL (Arka Trashna) 24 2l Adl odl € ?

@2 (Grapes) (B) 21821 (Tomato)
(C) ¥u3u (Guava) (D) dRL (Orange)
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084.

085.

086.

087.

088.

0809.

090.

A2Md 0Y2L s v Uud 23 A3 Yo wurllor (National Bureau of Soil Survey and Land Use

Planning) 4, {ua Has 58 o »uda ¢ ?

(A) 8g10ug (Hyderabad) (B) (¢l (Delhi)

(C) y8l (Pune) @ -0142 (Nagpur)
bR YorsHi Aoisll HHL s (Magnetism) 524 Slu 69 ?

(A) H8TH (B) 4gynH

@z (D) &4 AU Sl 8.

312 (RADAR) 2u-L Guaioimi daiu 9 ?
(A) el 2ig2 A G Al
(B) 2814l a2+l &AL Hual

(C) Wil WA declivl 2R W

@i, 2tasial aHl, uallzil adid- 2an alaa Wl

dl 08l ostfl LA Aara WS (RIMNP) sa1 %4/3-sRd MB A 2144 €9 ?
(A) YAl (B) 23

@iz iruq Rsiou uaygs (D) 320

RURAML H2MA Au- 3 (National Science Day) €2 a¥l 56 didlvi G € ?
@25 59204 (B) 27 §gxudl

(C) 26 3420l (D) 25 5421l

AlsAML Al 241 UM Al 1o AsAls 56 Ara/qeu we 284 8 ?
(A) xA88dl (NDTV) (B) M Adl (Zee TV)

@:ivic A\ (sansad TV) (D) 20% d$s

AR Hadl 2uR. [ 1R (R. Vinay Kumar) gL [Radl 2182 s2aumi 2udd 6. dil 58 ud il

As0uAA Sell ?
(A) siisdl2L - (Boxing) (B) a%+ Guisauril 2ud - (Weight lifting)
@3z - (Cricket) (D) 814l - (Hockey)
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091. G-20 tuetd AL AlsUl ASIAL :
1. 0 uHlerL Aedl 809% glRul GDPHL (8231 4R1d €9, 75% dAulR 211 60% Al (824l 41d 9.
2. 44 1999 ol €2 a¥ G-20 L viss w9,
3. 30 11 31 21521042 2021 L A% AH Wid 8 6165 HNAR 8.
(A) na 211 oflog ausy 4oy €9, (B) tllog 2t HAlog asu ulou €.
(C) uaH 247 Alog cusu Alou 8. @24, o010 17 A7y cwsu dlou B,

A\ Y
.

092. AL HELAL 21, drll AN, 41y 2 dAsal

1. AR+ Higl R 8uH a. slastl - Kolkatta

2. SuHBAA (EMS) 28un b. &jani &R

3. sdflon 22 8lun c. 510518l - Kozhikode
4. [Adsie ya Mrdl SRiaq d. AHELUE
(A)1-c,2-b,3-a,4-d @:-02-c3-04-a
(C©)1-b,2-a,3-d,4-c (D)1-a,2-d,3-¢c,4-b

093. 9l HAIRL 24 HA A35L WS 59 Asg Ulou Al ?
(A) Sdd s - Ad3%
(B) uldL duasaus - eisdlR
(C) @ dieuHl - [Run oue -4l (Marks woman)
@-if\w 3 - B3z (Cricket)

094. WMd-xl 218l (Trophy) - JHdL 5124 USL sUL A5 AU &9 ?
1. (332 - @.4). olken 2iS) (G.D. Birla Trophy)
2. 6ig3flv2+ - «u33L 4 (Narang Cup)
3. ¢l4l - ARHlIR 2151 (Charminar Trophy)
4. 26l - 33391 sU (Federation Cup)
@ 2214 (B) 2, 321 4
(C) 1,314 (D)1,2,3u14

095. Ao AU, AR 2021-20221 A 612 [AUtIHL 5012 9 sUHL 21dd 8 ?
(A) 28 42Ul - 2021 (B) 1 W - 2021
(C) 2 WAl - 2021 @3 i - 2021
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o RPN

096. MU i AHL GuALHL Adidl Aseil A2 aidy A4 dsdal.

1. 26l - Football a. vis -3 - Backhand

2. ofloy - Bridge b. Wl=fla1 - Pinching

3. 6l 6l - Base ball c. 33 AU - Grand Slam
4. 613 =2+ - Badminton d. 815 - Kick
@:.-0d2-c3-b4-a (B)1-¢,2-b,3-a4-d
(C)1-b,2-a,3-d,4-c (D)1-a,2-d,3-¢c,4-b

097. A S~idan 2»sudw (City Innovation Exchange) (CiX) Wasid sul {4 gIRL A3 SAHI
2da 69 ?

(A) e HaAEY - Home Affairs
@) 16205 27 2041 2152 vsnax - Housing and Urban Affairs
(C) SasziAsn v 208.2). Haua - Electronics & I.T.

(D) a1 H-nay - Education

098. A Alsd HAUAU gIRL, $3 4 w13 a9 2uasi-ls WaAlu (Swachh Iconic Places) (SIP) #2 -l Y4l

sirll ueoll ada el ?
(A) Bl Y51 - HSIRA @4 Bean - Redl
(C) §Ma018 $12 - A% (D) 6ii5 6181 HElR - nyRL

099. sidls A5 - COVAX Scheme idoid AH Al HOa-IR sul e sd ?

(A) ¥elrt @
(C) Sl (D) Sou
100. SLAML 2uH A1 AL UL 56 A2 304 Hldlur AR ($) Al Al war As2: e a8 ?
(A) ADB - Asian Development Bank
(B) a¢s 6i=5 - World Bank
@ 2u8.2u8.60. (A11B) - The Asian Infrastructure Investment Bank

(D) =y 3aquH-2 bivs - New Development Bank

101. QA1 acginidl sui aoe YA AH-ul ) ?
(A) MUSR (B) Ua
@-uis (D) Bs?
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102.

103.

104.

105.

106.

107.

108.

109.

‘il aee sul ur sl © ?
@ (B) weaHugdldl
(C) sHuRY (D) deyn

DAuniddl sul ave wuylsa’ (@RI e ?
(A) 2515 @il

(S)ELE (D) ¢-si(5a

‘a2 ool dl2e 524 s8ad 23U NA-unidl 58 s8aa 8 ?
(A) MY MY dld M3

(B) 1 tlAUHL AL,

@221 s 6 2 A Guirud 2wl

(D) 1M 2L A £ vi2l.

A2-uniefl sa aoedl oasell w=ll © ?

@0 B) Wk
(©) (3l (D) §un
QAnil sur aoe-dl ALl widl © ?

(A) 2ullale [ ENEN
(C) u[AHY (D) [gdla

51498 17 AU 89 ?

(A) 8[Ralla (B) 2431
(C) wealQARd @i
‘AU B{HIRRL 5L ] 6 ?

(A) sRell (B) Gurgaon
@ -widlias (D) 242U
$UIL 98 HIUHL €98 9 ?

(A) yedl () RralRel
(C) ¢Rell @-.qui

[ATA-1]
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110.

111.

112.

113.

114.

115.

‘% elldl oA €9 W13, - Ulsani sul A5 8 ?

(A) Gun @ variua

(C) culdRs (D) e[

A[RA Ad DAl 53 Asg g © ?

@z =+ 6B (B) yAugw = Yot + Snel
(C) Ryl = Riy + GR (D) flrg =l + S%

‘A yrfl), GuR uaRl $5d1 F4A €lal.” - ilsa w2 DA-umisll 53 Asg O ?
(A) yedl = H&R|N (B) ydl = HisuHn

@-icisicu = 2adln (D) Helsicl = Hun

Gl W2 sul aoe aw-udl 9 ?
(A) Gdsall @A
(C) Gest (D) G

-~

Al 2uUaL Aevisd 2R Wa sHIS 114 o) 118 U Gl 2uul.

sl 2 22l o © 3 Al by s ae-i-l A4l vigae auAle 2N QAAURIIA

-

2l el A uniyg euw s8] Hed A gsoluas Jusil angalg dl. edadl [adaa
A 2l Sidl. AU 2 Aoy euw siu dl ol sl g $209 ? Aolld, 2ewucd si edw ¢ ?
2=, SHUBIHL WAl [Banal 21 g s€lg) ? dalerd, dirtdq v st vis o sivisHl Hluy

8. 51 wsu- Rigiadl 21 2ue w9 3 0xlys ae-uq A4l A1 YA 2di Auis Heir 8l gldl. Ul

vidg [l v RwAla, Slasiusl, drsudlaid €siadi 8 €.

AHuRAl 2UGAH dRlaAA Y 20 9l ?

(A) ue-il (B) 2Adcue
@5 ve-udl 2iae (D) AAlUdl
AR A .......... 581 9.

(A) 452 @:

(C) Wiy (D) Ruan

[ATA-1]
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116.

117.

118.

119.

120.

121.

122.

123.

AUSni g 14l 8id ?
@: o) gaa (B) euall u@adl
(C) woei-l [Readl (D) aveil uad

sul Auis weir Al €idl ?

(A) HI2 B2l @vdl

@)uulrs uequg A0y 2udvin s2dl
(C) WA W2 Quidl

(D) WA Wi Avidl

dvis WA sdl ef® siu e ?

(A) g2esll (B) vR¥ER
(C) RRil® @iz
s HIRRA 98 Fal.” - UlsaHi sul 1651 & ?

(A) Gz (B) 3us
@cu (D) a3

56 Ul5d AL & FHi x5 €9 ?

(A) ‘B8 vl W vid 8L

(B) ‘s uat ot (A2l 2 oilell asig 4.’
@ dedazds.

(D) “Sraui 2140602 48 6lsl 8dl.’

MUY ol UL e O ?

@00 (B) wedRARA
(C) Rl (D) 8RaNla

15 HLAUHL ¢9 s 89 ?

(A) 82431 @-us

(C) aridldast (D) &2l

DAl 56 ulsa veisian eg-l =) ?
@vrvis 2l A vidoudl orell saall oA,
(B) & sl W3 wMa ooui ? ogu | vis wdl.
(C) 2 uvllst ! yuiell Ao oNaal sis suA.
(D) 6lsl 6isl vll Al § Hadl Hiu el

[ATA-1]
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124,

125.

126.

127.

128.

129.

130.

131.

132.

133.

Yol Aol yuly AA-unidl sul ) ?

(A) Y (B) 14

(C) * @
Dl Aivilf Raq - aoeuys W s aoe 2uul.

(A) Hs@an (B) wyRa-
@i (D) uHeun

‘gRell 01y % YE BWUA.” - UL LA WILR 5L HI2 58 $8ad AU ?
(A) M AN AL, @2 g2 i,
(C) s A Alesi A, (D) u4 Sl i wvll (i,

-\

A=A asginidl Al el ikl

(A) ygruel (B) ymia

@zl (D) y3uia

‘wiaoiAdl ollsart sl Hie sul JEnulo i € ?

(A) a3 HRdl (B) 82 &R eflw waid)
(C) vt U3 51 524 @4 an Garal
‘g’ w2 AlA-unidl sul aoe am-udl 9 ?

(A) sl @-:ia

(C) [l (D) ARe

‘ad 2’ 2oe W12 NAnnidl sul aoe qioy ) ?

(A) AR (B) %+l
(©) Rau @: 1
Daumiddl sul axin Hanuedidld Geusw dl ?

@2 (B) 2uo10udl
(C) yraivll (D) [RQicndw

15 HIALAL ¢9€ sl 69 ?

(A) 48U (B) s[Rolla
@S (D) &l
Qi Aoesl (A1l aoe sul 69 ?

(A) uRey (B) usld
(C) gl @z
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134.

135.

136.

137.

138.

139.

140.

141.

Dol 53 A3 Y el ?

(A) QUL = A, + AHAHIA

(B) 248l = A7, + 2ANY

@115 = 2 + 2154

(D) [ARald = [ + x1al8

Auniedl 53 W3g 0y © ?

@50 e 2 A28 8. - uRiua

(B) d dsell R ysulAAl 8. - 3us

(C) gl ugoil AloAni el 1l Hudl Hiog 9. - Gusn
(D) ad »12d adid. - yd[d

‘il uiting’ W su 3enalon GuatoL a & ?

(A) vt Wl (B) 2wt 2131 S s
(C) $i-t dlanadl @:i wiza
AAmigd)l 55 oAsell =l € ?

@ (B) %dNs

(C) ulAw (D) %34S

AA-unidfl ¢Rolld el ulsa 55 9 ?

(A) yedl A ua-t adl 2wl 9.

@ ving A wixg : g A el 1 sgdl ?
(C) ugis ugl cudid, @l Gsia Wil ea !
(D) el Higel ey ! UM A% o & .

A-uniddl sul w08 gg AHA Gereg el ?

(A) vign (B) AdlZau

(C) AuAel @-:in
Gguls’ W2 AA-unidl sui ace x-uedl € ?

(A) Yeuel @~z

(C) x™ (D) vid
A2A-unioll 53 A3G Y © ?

(A) [gL - sadl @2 - weizu
(C) [ReL - diesg (D) sl - 2x[aqas

[ATA-1] [PT.0. E
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142.

143.

144,

145.

146.

147.

148.

149.

150.

2ol sul a0 21l Ad el ud & ?

(A) 152 (B) AR

(C) eRal @:

U’ goe-) il «A[ 198 widl.

(A) et + [ (B) 2t +
@ + (D) awd + [
AA-unioll 53 A3G Y el ?

(A) 218: + ald = x4i(d (B) [R: + su2 = [Arsue
(C) g + 510 = grs1 @) + 5 = 2aude
AA-umiddl sul uHA AduenELL AU O ?

@224 (B) HR@ARBL

(C) >ue1oy (D) R

DAuniell 5 osell w=dl € ?

(A) %%Ra @2

(C) %% (D) %s3ld

A2Aunioll 53 GuHL Aeis12 eeid el ?
(A) HL 3Ll BH L.
(B) Us12L dl R W2 eusS gl 69,

@i rru Aeia 20000 5612 A sl ?
(D) ustuividl g d-i @A,

A2Aunioll 53 ABaRIuR 2145127 2wid el ?
(A) a3 g Melld, L 58l 8.

(B) 2&31 acatdl dsazA!

(C) 2u™ 32 H+ll adv R !

@1 200alH) 200 5194 you A 53 7

A2A-uniell 53 A3g Y © ?

(A) 21 - [ (B) 2u-igl - Gecnil
(C) diell - cuey @ - a2
‘AL AL UL 253U - AGEAHE HIS Hs ALE WL

@20 3ui (B) Sual

(C) An2dl (D) udl
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151. You give the custom officer the form. (Identify the direct and indirect objects.)
.the custom officer (indirect object), the form (direct object)
(B) the custom officer (direct object), the form (indirect object)
(C) You (direct object), the form (indirect object)
(D) You give (indirect object), the form (direct object)

152. 1 can reserve you a seat. (Identify the direct and indirect objects.)
(A) can reserve (indirect object), you (direct object)
.you (indirect object), a seat (direct object)
(C) I (direct object), you (indirect object)

(D) can reserve (direct object), you (indirect object)

153. You are requested to vacate your room by 10.00 am. (Identify the underlined word)

(A) Linking verb (B) Adverb of manner
.Performative verb (D) Adverb of degree

154. The growing number of visitors the footpaths. (Make present continuous)
(A) are damaging (B) is being damaging
.is damaging (D) damages

155. Scientist that, all over the world, millions of frogs and toads are dying.
(Make present perfect)
.have discovered (B) has discovered
(C) having been discovering (D) had being discovering

156. unreasonable decision. universal problem. (Insert appropriate articles)
(A) The, The (B) An, An
(C)A An .An, A

157. She had doubts about the decision. The talks went on at length.
(Insert required quantifiers)
.some, some (B) any, some
(C) any, — (D) many, many

158. I’'m pleased to say that you have passed maths exam.

(Insert required quantifiers)

@— - (B)all, —

(C) all, all (D) None of the above

[ATA-1] [PT.0. E
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159.

160.

161.

162.

163.

164.

165.

166.

167.

You mad if you think I’m going to lend you any more money. (Insert appropriate modals)
(A) should be (B) are supposed to be
.must be (D) would have been

I remembered race. (Construct grammatically correct sentence)
(A) the horse’s winning (B) the horse to win
@) horse winning (D) the horse’s to win

‘I suppose you’ve heard the latest . (Complete the narration)

(A) news, said she’ (B) news.’ she says

(C) news,’ she say’ .news,’ she said

I notified I had changed my address. (Complete the narration)
(A) with the bank that @ the bank that

(C) that bank (D) to the bank that

He asked me where he put the box. (Complete the narration)
(A) shall @ought to

(C) will (D) might been

Identify the correct sentence with appropriate form of participle.
.His finished manners produced a very favourable impression.
(B) His finishes manners produced a very favourable impression.
(C) His finishful manners produced a very favourable impression.

(D) His finisher manners produced a very favourable impression

Education is the most need of our country. (Insert appropriate participle)
.pressing (B) presting
(C) prested (D) press

Identify the grammatically correct sentence.

(A) The struggle great is, and prize also the great is.
.Great is the struggle, and great is also the prize.
(C) Is the struggle great, and great is also the prize.

(D) Struggle the great is, and also prize is the great.

Bye! I’ll see you Friday. (Insert appropriate preposition)
(A) until (B) at

(C)in @-n
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168.

169.

170.

171.

172.

173.

174.

Devi met an intelligent girl at museum. (Identify the part of speech)

(A) adverb (B) abstract noun
.adjective (D) pronoun

Identify the one which is not the compound adjective

(A) absent-minded (B) airtight

(C) kind-hearted .unastonishing

The central-government. (Identify the type of adjective in italics)

(A) emphasizing adjective .classifying adjective

(C) possessive adjective (D) demonstrative adjective

Following complex nouns are divided into their component words, each word in each pair indicates
the part of speech. Identify the incorrect complex noun.

(A) grand (adjective) + mother (noun) = grandmother
(B) data (noun) + base (noun) = database

(C) swear (verb) + word (noun) = swearword
.front (noun) + under (preposition) = frontunder

Identify the grammatically correct description.

.A man of few words, he never acted impulsively but when he did act, he did so decisively. Once
at a family gathering he picked up a large, rectangular, Russian teak foot-stool and hurled it
at a pleasant but old aunt who had annoyed him with her mindless chatter.

(B) Aman of few words, he never acted impulsively but when he did act, he did so decisively. Once
at a family gathering he picked up a rectangular, Russian teak large, stool-foot and hurling it
at a pleasant but old aunt who had annoyed him with her mindless chatter.

(C) A man of few word, he never impulsive acted but when he did act, he did so decisively. Once
at a family gathering he pick up a rectangular Russian teak large, foot-stool and hurling it at
a pleasantful but old aunt who had annoyed him with her mindless chatter.

(D) Aman of few word, he never acted impulsively but when he did act, he does so decisively. Once
at a family gathering he picked up a rectangular, Russian teak large, stool-foot and hurling it
at a pleasant but old aunt whom had annoyed him with her mindless chatter.

Which one of the following is not a stative verb?

.was playing (B) likes
(C) seem (D) smells

Identify sentence with adverb of time.

(A) The car rolled downhill because | forgot to pull up the hand brake
(B) The army moved forward to be closer to the enemy.

(C) They were ready to leave but the tickets were nowhere to be found.
.He never throws out the rubbish in his room.
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175. The judge tried to an answer from him but he stayed silent. He had been arrested for
involvement in diamond-dealing.
(Insert homophones correctly to show you understand their different meanings.)
.elicit, illicit (B) illicit, elicit
(C) illicit, explicit (D) complicit, illicit
176. Identify the sentence without capitalization error.

177.

178.

179.

180.

181.

.According to Prof. N. Makhubalo of the Cape Town Meteorological Society, “All the signs are
there in the south of the continent. The summers are growing longer, the rainfall is decreasing
in winter and spring, especially in the western parts of the region.” The professor quoted from
the IPCC Fourth Assessment Report (2007).

(B) According to Prof. N. Makhubalo of the Cape Town meteorological society, “All the signs are
there in the south of the continent. The summers are growing longer, the rainfall is decreasing
in winter and spring, especially in the western parts of the region.” The professor quoted from
the IPCC Fourth Assessment Report (2007).

(C) According to prof. N. Makhubalo of the cape Town Meteorological society, “All the signs are
there in the south of the continent. The summers are growing longer, the rainfall is decreasing
in winter and Spring, especially in the western parts of the region.” The professor quoted from
the IPCC Fourth Assessment Report (2007).

(D) According to prof. N. Makhubalo of the Cape Town Meteorological Society, “All the signs are
there in the south of the continent. The Summers are growing longer, the rainfall is decreasing
in Winter and spring, especially in the western parts of the region.” The professor quoted from
the IPCC fourth assessment Report (2007).

Identify the incorrect use.

(A) a pod of whales (B) a pride of lions
.a deck of cubs (D) a swarm of bees
Identify the correct use.

(A) a set of cubs (B) a bunch of sheep
.a flight of steps (D) a gaggle of fish
Identify the incorrect pair

.d rake — doe (B) fox — vixen

(C) lion - lioness (D) ram —ewe

Identify the one that is not a neuter noun.
(A) mirror (B) fire
(C) rock .mare

Identify correct sentence with appropriate apostrophe.
(A) I like’s moms cooking.

(B) Is this Portlands tallest’s building.

(C) Jane’s is wearing her mother’s shoes.

.AII pupils have month’s vacation in June.
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182. Identify the incorrect pair.
(A) steel production = the production of steel
.a sweet shop = the shop that is sweet
(C) a chess player = someone who plays chess
(D) a war film = a film about war

183. We hurry we are early. You take pictures here. (insert appropriate modals)
.needn’t, mustn’t (B) mustn’t, needn’t
(C) needn’t, needn’t (D) mustn’t, mustn’t

184. Identify the correct sentence.
.I sent some flowers to my mother.
(B) I sent some flowers my mother.
(C) I sent to my mother some of flowers.

(D) Some flowers to my mother | sent.

185. Identify the correct sentence.

.Let’s not go home. (B) Let’s don’t go home.

(C) Not let’s go home. (D) Let’s go not home.
186. Identify the incorrect spelling.

.hankerchief (B) embarrassment

(C) receive (D) scientific

187. Ildentify the correct spelling.
(A) Multidisiplinery (B) Modren
(C) Etiquite @ rutorial

188. Give the meaning of word Aesthete.
(A) One who avoids physical pleasures and comforts.
.A person with highly developed sense of beauty.
(C) One who is habitually kind to others.
(D) One who lives in trees.

189. A circular movement of water dust or wind is called

.Eddy (B) Eaves

(C) Electrocute (D) Estuary
190. Give opposite of curly.

(A) Vertical .Straight

(C) Lengthy (D) Short
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191. Identify the incorrect pair.
(A) Psychoanalyst — delve into unconscious
(B) Dermatologist — deals with skin problems
(C) Chiropodist — takes care of minor ailments of feet
.Optician - studies human behaviour

192. is a star shaped symbol.

(A) Ore .Asterisk
(C) Arch (D) Shaft

193. Give one word for Lover or collector of books.

(A) Sociologist (B) Psychologist

(C) Eccentric @)sibliophile
194. Lack of equality :

(A) Ambiguity (B) Parity

@isparity (D) Placidity

195. Identify the idiom with wrong meaning.
(A) Fit as fiddle - fit and in good health
(B) Hard as nails — very hard and uncomfortable
.Draft as brush — very intelligent
(D) White as sheet — looking very ill or frightened

%  Read the following passage and answer questions 196-200 based on the passage.

Most spiders live on land, but this spider is different. It spends most of the time under water. How
does it breathe? It breathes by making a tent full of air bubbles under water. First it spins a web
in the shape of bell. Then it fixes it to plants under water. Next it swims up to the top of the water
and traps a tiny bubble of air with its hairy back legs. It drags the bubble to its web. It does this
many times until its home is full of air. Then it sits nice and snug in its web and feed on tiny fish
and other water animals.

196. The passage is about the spider that
(A) can’t spin a web .Iives under water
(C) drags its web (D) water plants

197. As mentioned in the passage identify in sequence the activity of the spider.
.spins, fixes, traps and drags
(B) web, underwater, bubbles and traps
(C) spins, fixes, bubbles and sleeps
(D) web, underwater, breathes and snugs
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198.

199.

200.

Spider sits
(A) if home is full of air .nice and snug in its web
(C) feeding on fishes (D) with water animals

Spider breathes

(A) to plants under water

(B) with its hairy back legs

(C) tiny bubble of air continuously and often in web shape of bell
.by making tent full of air bubbles under water

Most of the spiders
.Iive on land (B) live under water
(C) bubble the web (D) feed on plants
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001.

002.

003.

004.
00s.
006.
007.

008.

009.

010.

Which type of tariff is used for residential and small commercial consumers?
(A) Simple tariff (B) Block rate tariff
(C) Two-part tariff (D) Three-part tariff

Which of the following relation is valid for DC motors? Where N is speed of DC motor and ¢
magnetic field or flux?

(A)N o« ¢ (B) N o ¢?
(CO)Noc ¢’ @O)N o ¢!

The following two tariffs are offered:
(i) Rs 200 plus 30 paisa per unit;
(ii) A flat rate of 60 paisa per unit;

At what consumption is first tariff economical?

(A) 667.67 units (B) 566.67 units

(C) 467.67 units (D) 367.67 units

What is the difference between maximum demand tariff and two-part tariff?

(A) A separate meter is used (B) Semi fixed charges are also included
(€) Maximum demand meter is used (D) None of these

Which type of tariff is mostly applicable to industrial consumers?

(A) Flat rate tariff (B) Block rate tariff

(C) Simple tariff (D) Two-part tariff

Which tariff is also known as the average power factor tariff?

(A) kVA maximum demand tariff (B) Sliding scale tariff

(C) kW and kVAR tariff (D) Maximum demand tariff

Output of the D.C. machine is proposed to, (D-Diameter of armature and L - Length of core)
(A) DL B) DL

(C)DL (D) DL

A circuit draws a current of 20 A at a voltage of 240 V and its power factor is 0.8 lagging. Then
Reactive Power is?

(A) 2880 VAR (B) 2440 VAR

(C) 3220 VAR (D) 2660 VAR

Load current to the power factor.

(A) Is directly proportional (B) Is inversely proportional
(C) Has no relation (D) None of the above

Which among the following happens in a low power factor?
(A) Large kVA rating of equipment (B) Large copper losses
(C) Poor voltage regulation (D) All of the above
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011.

012.

013.

014.

01s.

016.

017.

018.

019.

020.

Which of the following is the most economical power factor?

(A) 0.8 - 0.9 leading (B) 0.8 - 0.9 lagging

(©) 0.2 - 0.3 leading (D) 0.2 - 0.3 lagging

Which of the following equipment can be used for improving the power factor?
(A) Phase advancers (B) Resistors

(C) Static Capacitors (M)A and C

An alternator is supplying a load of 500 kW at a pf 0.7 lagging. If power factor is raised to unity,
the value of additional kW should alternator supply for the same kWA loading?

(A) 188.28 kW (B) 214.28 kW

(C) 314.28 kW (D) 328.28 kW

kVAR = kW

(A) cos ¢ (B) sin ¢

(©)tan ¢ (D) cot ¢

Power factor lies within a range from

(A) 0.2 to 0.9 (B) 0.1 to 0.9

©o0to1l (D) 0.1 to 0.95

Which of the following method is employed for arc extinction in a.c. circuit?
(A) High resistance method (B) Current zero method
(C) BothA and B (D) Neither A nor B

In India, breaking current equal to the
(A) Symmetrical breaking current

(B) Asymmetrical breaking current
(C) Both A and B

(D) None of the above

Which of the following is the Interrupting medium in a contactor?

(A) Vacuum (B) Air

(C) Sulphur hexafluoride (SF)) (D) All of the above

Making capacity of the breaker = times symmetrical breaking capacity
(A) 1.41 (B) 2

(©)2.55 D) 3.41

An air-blast circuit breaker is designed to interrupt a transformer magnetising current of 12 A
(r.m.s.) chops the current at an instantaneous value of 8 A. If the values of C and L in the circuit
is 0.0032 pF and 45.5 H, what will be the value of voltage that appears across the contacts of the
breaker? Assume that all the inductive energy is transferred to the capacitance.

(A) 866 kV (B) 750 kV
(©)954 kv (D) 1021 kV
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021. In Resistance switching, The value of R required for critical damping is

(A)VL/C (B) 0.5 VL/C (©)~Nc/L (D) 0.5 VC/L

022. Which of the following circuit breaker is called double break circuit breaker?

(A) Plain break oil circuit breakers (B) Arc control oil circuit breakers
(C) Low oil circuit breakers (D) None of the above

023. Dielectric strength of SF, gas is times higher than air.
(A) half B)1to2 ©)2to3 (D)3 to4

024. Which of the following Circuit breakers generally used for low capacity installations like
up to 11 kV?

(A) Plain Break oil Circuit Breaker

(B) Air-Blast Circuit Breakers

(O) Sulphur Hexafluoride (SF,) Circuit Breaker
(D) Vacuum Circuit Breakers (VCB)

025. Desired tripping of a circuit breaker under fault conditions is,
(A) Manually (B) Automatically
(C) That it should give warning (D) None of these

026. Voltage surge is defined as
(A) Sudden rise in current for a very short duration on power system
(B) Sudden rise in voltage for a very short duration on power system
(C) Both A and B
(D) None of these

027. Typically the timing of voltage surge represent in
(A) Second (B) Milli second
(C) Micro second (D) Nano second

028. Voltage surge occurs due to
(A) Switching surges (B) Insulation failure
(C) Lightning (D) All of the above

029. Over-voltages due to current chopping are prevented by
(A) Resistance switching (B) Oil circuit breakers
(C) Both A and B (D) None of the above

030. Arcing ground can be prevented by
(A) Earthing the neutral (B) Resistance switching
(C) Both A and B (D) None of the above
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031.

032.

033.

034.

03s.

036.

037.

038.

039.

040.

What is the current range of lightning discharge?
(A) 100 A to 500 A (B) 500 A to 1 kA
(C) 1kA to 10 kA (D) 10 kA to 90 kA

Typically the expulsion type arrester is used on system operating at voltage up to
(A) 11 kV (B) 22 kV
(©)33kV (D) 44 kV

In valve type arrester, which of the following compound is used for resistor discs?
(A) Thyrite (B) Metrosil
(C) Both A and B (D) None of the above

Which of the following devices are used for the protection against lightning surges?
(A) Earthing screen

(B) Overhead ground wires

(C) Lightning arresters or surge diverters

(D) All of the above

Which of the following electrical quantity remains constant in normal transformer?
(A) Current (B) Voltage
(C) Frequency (D) None of the above

Transformers are used for

(A) a.c. supply (B) d.c. supply
(C) Both A and B (D) None of the above

For the sinusoidally varying current, the From factor is

A)1.11 (B) 1.41

(©) 0.741 (D) 2.41

A transformer having 2000 primary turns is connected to a 500 V a.c. supply. For a secondary
voltage of 200 V, the number of secondary turns should be

(A) 1600 (B) 800

(C) 400 (D) 1250

Step transformer increases
(A) Current (B) Voltage
(C) Frequency (D) Power

In transformer, when Cu loss = iron loss, then efficiency of the transformer will be
(A) Maximum (B) Minimum
(C) Does not affect (D) None of the above
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041.

042.

043.

044.

045.

046.

047.

048.

049.

050.

Short-Circuit test on a transformer is carried out to determine
(A) No-load loss (B) Magnetising current
(€) Cu loss at full load (D) All of the above

A transformer has negative voltage regulation when its load power factor is
(A) Leading (B) Lagging
(C) Zero (D) Unity

In relation to a transformer, the ratio 10:1 indicates that

(A) There are 10 turns on primary one turn on secondary

(B) Secondary voltage is 1/10" of primary voltage

(C) Primary current is 10 times greater than the secondary current

(D) For every 10 turns on primary, there is one turn on secondary

Transformer cores are laminated so that

(A) Reduce hysteresis loss (B) Minimise eddy current loss
(C) Reduce cost (D) Simplify its construction
A transformer with magnetic leakage is equivalent to an ideal transformer with connected
in both primary and secondary circuits.
(A) Inductive coils (B) Resistor
(C) BothA and B (D) None of the above
The Power 'P' to be transmitted over a transmission line is
(A) P=3 VIsin ¢ ®)P =13 VIcos ¢
(C) P=13 VItan ¢ (D) P=13 VI cot §
What is the full form of ACSR?
(A) Aluminium Conductor with Steel Reinforcement
(B) Aluminium Copper with Steel Reinforcement
(C) Aluminium Conductor with Silicon Reinforcement
(D) Aluminium Copper with Silicon Reinforcement
The approximate equivalent spacing of the 110 kV lines is
(A)1m (B) 2.6 m
©)5m (D) 10 m
Which of the following can be considered as the advantage of Corona?
(A) Reduced electrostatic stress (B) Reduced transients effects
(C) Both A and B (D) None of these
Generally, angle between the pole and stay is
(A) 10° (B) 20°
(C) 60° D) 30°
[ATA-2] [Contd.
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051.

052.

053.

054.

05S.

056.

057.

058.

As per the Indian electricity rule no. 76, The tension developed in the conductor should not exceed

Breaking Strength Breaking Strength
A) (B)
2.5 1.5
Breaking Strength Breaking Strength
© 3.5 ®) 4.5

In short overhead transmission line (upto 80 km), which of the following can be neglected?
(A) Series resistance (B) Shunt Conductance

(C) Shunt Capacitance (D) Both shunt Conductance and capacitance

If Conductor diameter increases then Corona
(A) Decreases (B) Increases
(C) Does not change (D) None of these

If a is line impedance and b is shunt admittance then Surge impedance Z is

a\? a\?
(A) (E) (B) (E)

212 232
@l o]

What should be the minimum clearance from the ground for more than 166 kV transmission
lines?

(A)7 m (B) 6.7 m

(©)6m (D)5.8m

Objective of earthing is/are

(A) To save human life from danger of shock
(B) Maintain line voltage constant

(C) To protect machines from lightning

(D) All of the above

Ohm meter is used for what?

(A) To measure the earth resistance

(B) To measure potential difference

(C) To measure current passing through conductor

(D) To measure conductance

Earth's potential is taken up as

(A) Infinity B)1
(C) Voltage Supply (D) Zero
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059. What is the range of 'let go current'?
(A) 1.6 mA (B) 16 mA
O16A D) 0.6 A

060. Which of the following can be considered as advantage of neutral earthing?
(A) Safety of personnel
(B) Reduction of earth fault current
(€) Elimination of arcing ground
(D) All of the above

061. What is the unit of Soil resistivity?

(A) Q/m (B)Q/ m?
©Q m (D) Q m?
062. Which of the following material has highest resistivity?
(A) Sea Water B) Ice
(C) Garden soil (D) Porous chalk

063. Which of the following is correct mathematical representation of Step Potential? (p =soil resistivity)

(A) (1000 + 6p). 0.116 (B) (1000 + 1.5p). 0.116
Vt Vt
(C) (1000). 0.116 (D) (1000 + 10p). 0.116
Vt t
064. As per Indian practice, short time rating of switchgear is based on sec.
A2 B)3
©4 D)5

065. A metal conductor 100 m long and whose radius is 0.9 m has resistivity 200 Q2 m. Then what is the
value of earth resistance?

(A)3.95Q (B) 2,95 Q
(0)4.95Q D) 1.62 Q
066. For safety point of view, the resistance of the earthing electrode should be
(A) Low
(B) High
(C) Medium

(D) The value of resistance of earth does not affect safety

067. The insulating materials for cable should have
(A) Low insulation resistance
(B) High dielectric strength
(C) Both A and B
(D) None of these
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068.

069.

070.

071.

072.

073.

074.

075.

076.

Permitivity of Varnished cambric is
(A)1.5t02.8 B)2.5t03.8
(C)3.5t04.8 (D)4.5t05.8

In a single core cable, if length of the cable increases then its insulation resistance

(A) Decreases (B) Increases

(C) Remains same (D) None of these
Belted cables are generally used upto kV

An (B) 22

(C) 66 (D) Beyond 66

Which of the following is/are the method of grading of cables?

(A) Capacitance grading (B) Intersheath grading

(C) Both A and B (D) None of these

Thermal resistance is proportional to length and _ proportional to cross-section
area.

(A) Direclty, inversely (B) Inversely, Directly

(C) Directly, Directly (D) Inversely, Inversely

In Murray loop test method, which of the following bridge principle is used?
(A) Wheatstone bridge (B) Kelvin Bridge
(C) Maxwell bridge (D) Carey Foster Bridge

Find the most economical value of diameter of a single-core cable to be used on 25 kV, single-phase
system. The maximum permissible stress in the dielectric is not to exceed 20 kV/cm.

(A) 2.35 cm (B)3.53 cm
(C)4.25 cm (D) 5.15 cm

Resistivity of rubber insulation is
(A) 10" Q cm B) 10" Q cm
(©) 102 Q cm D) 10 Q cm

What is the voltage limit for the solid type cables?
(A) 11 kV (B) 22 kV
(©) 66 kV (D) 132 kV
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077.

078.

079.

080.

081.

082.

083.

084.

08s.

The gross mechanical power developed by the d.c. motor is maximum when back e.m.f. is
the applied voltage.

(A) Double (B) Quarter

(C) Half (D) Equal

Speed of a d.c. motor is proportional to the flux and proportional of back e.m.f.
(A) Directly, inversely (B) Directly, directly

(€) Inversely, directly (D) Inversely, inversely

If the load of the d.c. motor decreases then the speed
(A) Increases (B) Decreases
(C) Remains constant (D) None of these

When load is removed, which of the following motor will run at the highest speed?
(A) Series (B) Shunt

(C) Differential compound (D) Cumulative-compound

Which of the following relationship is known as electrical characteristics of d.c. motor?

(A) Speed and armature current (B) Torque and armature current
(C) Speed and torque (D) All of these

Which of the following relationship is known as mechanical characteristics of d.c. motor?
(A) Speed and armature current (B) Torque and armature current
(©) Speed and torque (D) All of these

Which of the following test is the most economical for finding no-load losses of a large d.c.
shunt motor?

(A) Retardation test (B) Swinburne's test
(C) Hopkinson's test (D) None of these

An Induction motor runs at 600 r.p.m. at full load, when connected to 50-Hz supply. Number of
Poles of the Induction motor is

@A) 10 (B) 12
(©) 15 D) 20

Which of the following sentences is true for squirrel-cage induction motor?
(A) Power factor is low at heavy load only

(B) Power factor is low at light loads only

(C) Power factor is low both at light and heavy loads

(D) Power factor is low at rated load only
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086.

087.

088.

089.

090.

091.

092.

093.

094.

The reason why starters are used in Induction motor is

(A) It cannot run in reverse direction

(B) Its starting current is five times or more than its rated current
(C) It can run in reverse direction

(D) It is run against heavy load

Current value of greater than causes ventricular fibrillation
(A) 10 mA (B) 15 mA
(©) 25 mA )75 mA

India's position in the Global Wind Energy Council (GWEC) is
(A) First (B) Second
(C) Third (D) Fourth

When was Atomic Energy Commission established?
(A)1948 (B) 1958
(C) 1968 (D) 1965

BTU is measurement of
(A) Temperature (B) Light
(C) Volume (D) Area

Which of the following isotopes of uranium is used as fuel in nuclear power plant?
(A)U-238 B)U-234
(©) U -235 (D) All of these

Which country has the largest share of the global coal reserves?

(A) India (B) China
(C) USA (D) Russia
India has the world's largest proven coal reserves.
(A) Second (B) Third
(C) Fourth (D) Fifth

What is the full form of IPHE?

(A) International Partnership for Hydrogen Economy
(B) International Partnership for Hybrid Economy

(C) International partnership for Hydro-power Economy
(D) None of the above

[ATA-2]
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09s.

096.

097.

098.

099.

100.

101.

102.

103.

104.

Which section of Central Electricity Act 2003 discusses the authorization to transmit, supply and
distribute electricity?

(A) Section 7 (B) Section 9

(C) Section 11 (D) Section 12

In section _ a person may construct, maintain or operate a captive generation plant and
dedicated transmission lines.

(A) Section 3 (B) Section 7

(C) Section 9 (D) Section 12

means a process which simultaneously produces two or more forms of useful energy.
(A) Power Generation (B) Utilization

(C) Conservation (D) Cogeneration

Which section of the following deals with the inter-state, regional and inter-regional transmission?
(A) Section 25 (B) Section 26
(C) Section 27 (D) Section 28

At which year, regional based grid management started?

(A) /1960 (B) 1965

(C) 1970 (D) 1972

On southern region was connected to central grid.

(A) 31* Dec 2014 (B) 31° Dec 2013
(C) 31* Dec 2012 (D) 31* Dec 2015
In CEA 2003, which Section describes as the Grid Standards?
(A) Section 34 (B) Section 35
(C) Section 36 (D) Section 28

In CEA 2003, which Section discusses the use of meters?

(A) Section 52 (B) Section 53
(C) Section 54 (D) Section 55
In CEA 2003, Section describes about the disconnection of supply in default of payment.
(A) Section 54 (B) Section 55
(©) Section 56 (D) Section 57

In CEA 2003, Section 135 discusses

(A) Theft of electricity

(B) Punishment for receiving stolen property
(C) Extinguishing public lamps

(D) Punishment for non-compliance of orders or directions
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10S.

106.

107.

108.

109.

110.

111.

112.

113.

114.

Section of CEA 2003 provides information about theft of electric lines and materials.
(A)121 (B) 100
©) 139 D) 136

Which of the following methods are used for the Neutral Grounding?
(A) Solid grounding (B) Resistance grounding
(C) Peterson-coil grounding (D) All of these

Resistance Grounding is used on a system operation at Voltage between
(A) 1.1 kV and 2.2 kV (B) 2.2 kV and 33 kV
(C) 33 kV and 66 kV (D) beyond 66 kV

The ground wire is colored
(A) Red (B) Green
(C) Black (D) Blue

In Peterson coil grounding, when inductive fault current is equal to capacitive current of the
system, then

@Ayx, =3x, (B) X =0.3X,
(€)X, =3X_ (D) X, =0.3X_

Most of the faults occur in the overhead system are
(A) Phase to phase faults (B) Phase to earth faults
(C) BothA and B (D) None of these

What is the value of reactance of peterson coil suitable for a 2.2 kV, 3-phase transmission line
having a capacitance to earth of each conductor as 5.5 nF. Assume frequency is 50 Hz.

(A) 110 Q B) 193 O
(C©)251Q (D) 310 Q

What is the full form of NGR?
(A) Natural Grounding Resistor (B) Normal Grounding Resistor
(€) Neutral Grounding Resistor (D) Neutral Grounding Reluctance

What is the Full form of ATPV?

(A) Arc Thermal Potential Value

(B) Arc Temperature Performance Value
(C) Arc Thermal Performance Value

(D) None of these

Capacity of Kakraper Atomic Power Station is
(A) 220 MW B) 440 MW
(C) 750 MW (D) 850 MW
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115.

116.

117.

118.

119.

120.

121.

122.

123.

As per Indian standard, error of reference equipment should be __ of the equipment which
being tested.

(A)1/5 (B) 172

©)13 (D) 1/6

Which of the following instruments is used to measure quality factor of the electrical circuit?

(A) Q Meter (B) Volt Meter
(C) Oscilloscope (D) None of these
Vibration Galvanometer is used as in a.c. bridges.

(A) Null-point detectors

(B) Measuring small electric charges
(C) Both A and B

(D) None of these

Wien's bridge is used for

(A) To measure unknown capacitance
(B) To measure unknown frequency
(C) Both A and B

(D) None of these

Moving iron instruments can be used for measuring
.A.C. voltage and current (B) To measure unknown frequency
(C) Resistance (D) Capacitance

meter is most suitable for only direct current measurements.
(A) Moving-iron type (B) Electrodynamic type
(C) Hot-wire type (D) Permanent-magnet type

In Workman's Compensation Act - 1923, which of the following sections describes responsibility
of owner or manager?

A1 (B) 2

©3 (D)4

A Safety Electrical One Line Diagram should be used to all sources of electrical energy.
(A) Modify (B) Evaluate

(C) Identify (D) All of these

Gloves used for electrical protection must be electrically tested in every
(A) 1 month (B) 3 months
(C) 6 months (D) never

[ATA-2] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

admin
Highlight


124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

Which of the following sections of Indian Electricity Supply Act 1948, 1956 discusses about
warnings and instructions?

(A) Section 35 (B) Section 34

(C) Section 33 (D) Section 32

Permit to work certificate is issued by to

(A) In-charge officer, working officer (B) Working officer, in-charge officer
(C) In-charge officer, labors (D) Working officer, labors

The intensity of an electric shock depends on which factor?
(A) The period of shock (B) Voltage
(C) Type of current (D) All of these

Atmospheric pressure at sea level is
(A)14.7 Psi (B) 12.7 Psi
(C) 11.7 Psi (D) 13.7 Psi

A bulb has a power of 100 W. What is the energy dissipated by it in 10 minutes?
(A) 10 kJ B) 60 kJ
O 12kJ D)6 kJ

A current of 1 A flows in a wire through a resistance of 10 £Q2. What amount of energy is generated
in 1 hour?

(A)36kJ (B) 3600 kJ

(C)3.6kJ (D) 360 kJ

The energy storing capacity of magnetic field is about _ times greater than that of electric
field.

(A) 20,000 (B) 25,000

(C) 15,000 (D) 12,000

In Fluorescent lighting circuit, bimetallic strip and a heater are connected in __ with the
filaments.

(A) Series (B) Parallel

(C) Both A and B (D) None of these

Generally which type of lighting is used in sports arena?

(A) Vapor lighting (B) Fluorescent lighting
(C) Incandescent lighting (D) All of these

LEDs draw as little as energy as much as incandescent lamp
(A)1/2 B) 1/5

©)1/10 D) 1/50
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134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

Light intensity varies _ asthe __ of the distance from the light source.

(A) Inversely, square (B) Directly, square

(C) Inversely, cube (D) Inversely, half

In lighting system, formula for the Room ratio __, where W is the room width, L is the room
length, H is the distance from the light source to the work surface.

(A)LxH/W(W+L) B)W x L/H(W + L)

(C) W x H/L(W + L) (D) None of the above

Which of the following is/are type of Illumination?
(A) General lighting (B) Combined lighting
(C) Local lighting (D) All of these

Which of the following tips should be implemented for energy conservation in lighting system?
(A) Use the most efficient light source available

(B) Plan proper lighting system

(C) Use lighter colors on ceilings and walls

(D) All of these

The life of a compact fluorescent lamp is times the expected life of an incandescent lamp.
A)20 B) 10

(O] (D) 30

The average life expectancy of an LED bulb is hours more as Compared to the fluorescent
bulbs.

(A) 25,000 (B) 50,000

(C) 10,000 (D) 12,000

Which of the following is/are disadvantages of PVC casing-capping wiring?

(A) Costly (B) Not suitable for humid weather
(C) High risk of fire (D) All of these

For conduit wiring is the best and most desirable system of wiring.

(A) Public buildings (B) Home

(C) Both A and B (D) None of these

In Centrifugal Pump pressure is developed by

(A) Increasing the velocity of the liquid (B) Mechanically force liquid out of the pump
(C) Both A and B (D) None of these

1hp= watts

(A)755.7 (B) 635

(C) 8455 (D) 250.5
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144. Which type of starter is used to start both Shunt motor and Compound motor?
(A) Direct online starter (B) 3-point starter
(C) Auto-transformer starter (D) None of these

145. Capacity of Direct online starter to start motors is up to
(A) Less than 5 hp (B) Less than 10 hp
(C) Less than 15 hp (D) Greater than 5 hp

146. Which of the following centrifugal pumps has higher specific speed than the others?
(A) Radial flow (B) Axial flow
(C) Mixed flow (D) All have same specific speed

147. What is the full form of HEMM?
(A) Heavy Earth Moving Machinery
(B) High Earth Moving Machinery
(C) Heavy Earth Moving Motor
(D) High Earth Moving Motor

148. Which of the following wiring is the cheapest among all?

(A) Cleat (B) RTS/CTS
(C) PVC capping (D) Metal
149. Distance from the floor should always be more than in cleat wiring.
(A)2m B)3m
(©)5m (D)8 m

150. The dielectric strength of air at 25°C and 76 cm of mercury is
(A) 2.11 kV rms/cm (B)21.1 kV rms/m
(O) 211 kV rms/cm (D) 2110 kV rms/m

151. For what reason commutator is used in DC generator?
(A) Convert AC armature current into DC (B) For collecting of current
(C) Reduce copper losses (D) All of these

152. Dummy coils are used in electrical machine because
(A) Mechanical Balancing (B) For collecting of current

(C) Reduce losses (D) Increasing efficiency

153. SI unit of Luminous intensity is
(A) Weber (B) Candela
(C) Tesla (D) Pascal
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154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

Deflection method of direct measurements are generally used because
(A) Least time consuming (B) Most simple
(C) Most accurate (D) Both A and B

Input impedance of the Cathode Rays Oscillator (CRO) is
(A) 1£Q (B) 100 £
©)1 MQ (D) 100 MO

The difference between the measured value and the true value is called
(A) Dynamic error (B) Gross error
(C) Absolute error (D) Relative error

Which type of lamp has best CRI (Colour Rendering Index)?
(A) Incandescent (B) Fluorescent
(C) LED (D) Sodium vapour

Fluorescence lamp luminous efficacy is
(A) 40 Im/watt (B) 70 Im/watt
(C) 60 Im/watt (D) 80 Im/watt

India's largest thermal power plant is located at
(A) Kota (B) Sarni
(©) Singrauli (D) Chandarapur

India's biggest solar park is located at which state?
(A) Rajasthan (B) Gujarat
(C) Tamil Nadu (D) Maharashtra

A fuse wire of circular cross-section has a radius of 1.2 mm. The wire blows off at a current of
27 A. What is the value of radius of the wire that will blow off at a current of 1 A.

(A)0.13 mm (B) 0.55 mm
(C) 2.3 mm (D) 1.23 mm

Typically Pin type insulators are used for transmission at voltages upto
(A)2.2kV (B) 11 kV
(©)33kV (D) 66 kV

Which of the following factor/s that is affecting corona?
(A) Atmosphere (B) Conductor size
(C) Line voltage (D) All of these
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164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

In 3-¢ system, if loads are perfectly balanced, then the neutral current goes to

(A) Infinity (B) Half

(C) Double (D) Zero

In 3-¢ system, the phase displacement is between each phase.
(A) 45° (B) 90°

(©)120° (D) 135°

On which of the following transformers, a Buchholz relay can be installed?
(A) Auto transformers

(B) Air cooled transformers

(€) Oil cooled transformers

(D) Welding transformers

Ideally, in transformer the resistance between its primary and secondary should be

(A) Infinity (B) Zero

O010Q (D) 100 Q

The transformer oil should have volatility and viscosity.
(A) Low, High (B) High, Low

(C) Low, Low (D) High, High

For a transformer, operating at constant load current, maximum efficiency occur at
(A) 0.5 leading p.f (B) 0.5 lagging p.f
(C) Zero p.f (D) Unity p.f

In short circuit test, iron losses are negligible because
(A) The voltage applied on the primary side is low

(B) The current on secondary side is negligible

(C) The voltage on secondary side is negligible

(D) Full-load current is not supplied to the transformer

Specific energy consumption is least in service.
(A) Main line (B) Suburban
(C) Urban (D) None of these

Which of the following speed control method reduces the D.C. motor efficiency?

(A) Choice voltage control method (B) Field control method
(C) Armature control method (D) All of the above

D. C. generators are installed near the load centers to reduce

(A) Line losses (B) Iron losses

(C) Sparking (D) Corona losses
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174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

Which of the following D.C. motor will be preferred for machine tools?
(A) Series motor (B) Cumulative compound motor

(©) Shunt motor (D) Differential compound motor

Hopkinson's test on D.C. machines is conducted at
(A) No load (B) Full load
(C) Part load (D) Overload

Which of the following materials is used to construct the arcing contacts in a circuit breaker?
(A) Copper Tungsten alloy (B) Porcelain
(C) Iron (D) Aluminium alloy

Which of the following circuit breaker has delayed trip action?
(A) Magnetic circuit breaker (B) Air-blast circuit breaker
(€) Thermal circuit breaker (D) All of these

Typically, Protection by fuses is not used beyond

(A)20A (B)S0A
(C)200A D) 100 A
Admittance relay is relay

(A) Non-directional (B) Impedance
(C) Directional (D) None of these

Arc in a circuit breaker is interrupted at
(A) Zero current (B) Maximum current

(C) Minimum current (D) Maximum voltage

QOil switched are used in
(A) Low voltage circuits (B) High voltage and large current circuits
(C) Low current circuits (D) All of the above

What happens if any of the transformer winding is shotcircuited?
(A) Mechanical vibration (B) Insulation failure

(C) Impulse voltage (D) Loose connection

In India, which of the following is used in distribution lines?
(A) R.C.C. poles (B) Wooden poles
(C) PVC towers (D) None of these

Specific gravity of Aluminium is
(A) 1.5 B)7.8
©) 27 (D) 4.2
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18S.

186.

187.

188.

189.

190.

191.

192.

193.

194.

For long transmission line, which type of relay is used?
(A) Mho's relay (B) Impedance relay
(C) Resistance relay (D) All of these

Voltage rating of the single phase residential consumer is
(A) 210 (B) 110
(©) 230V (D) 400

Which of the following material is commonly used for sheaths of underground cable?

(A) Copper (B) Iron

(©) Lead (D) Rubber

Typically, the slip is around in medium sized induction motors.
(A) 0.1% B) 1%

(C) 14% D) 4%

Which of the following quantity is represented as diameter of the circle for induction motor in
circle diagram?

(A) Slip (B) Line Voltage
(C) Running torque (D) Rotor current

Which of the following lubricant is used in ball bearing?
(A) Grease (B) Graphite
(C) Molasses (D) Mineral oil

An induction motor is identical to
(A) Asynchronous motor (B) D.C. compound motor

(C) D.C. series motor (D) Synchronous motor

In synchronous motor, at which angle maximum power is developed?
(A) 30° (B) 60°
(©)90° (D) 180°

When we can use synchronous motor as a synchronous capacitance?
(A) Under loaded (B) Overloaded
(€) Over excited (D) Under exited

When the voltage applied to a synchronous motor is increased, which of the following will reduce?
(A) Stator flux (B) Pull in torque
(C) Both A and B (D) None of these
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195.

196.

197.

198.

199.

200.

Which of the following motor is called pony motor?
(A) Small induction motor (B) D. C. series motor
(C) D.C. shunt motor (D) None of these

What is the average resistance of human body?
(A) 1000 ohm (B) 500 ohm
(C) 100 ohm (D) 1 ohm

Soil resistivity increases when moisture level
(A) Decreases (B) Increases
(C) Constant (D) None of these

In a transformer, if frequency increases, the secondary voltage
(A) Not change (B) Increases
(C) Decreases (D) None of these

Which of the following core is used in transformer for high frequency?
(A) Copper core (B) Aluminum core
(C) Steel core (D) Air core

At which side of transformer, tapping are provided?
(A) Secondary side (B) Primary side
(C) Low voltage side (D) High voltage side
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